10 114& E<F > ﬂ#ﬁ%ﬁm% 10
iz . s | = | =% | g | IMP kA % | BA
B %ﬁ m g | s | Tes 1&:4\ IMP IMP | IMP | IMP | m#| B~ | A4 |(MP)
IMP IMP | IMP | ¢ | Fpe | #0 | fle |20 MP MP it 2,
1 BT 90 | 175 | (175) 37 37 1 1.00 | 37 1599.5 [51.2%] 28
1 Bkl 40 | 51 | 106) | (55) (1.4) 0.48 214.0 141.2%
1 ez 90 1157 | (78) 1 @D | 44 10.2)] 43 0.88 | 44 |544.5 |46.5%]| 57
1 R 50 1 79 | 06 ) @n (0.5) 0.75 293.5 145.2%
1 Ho 60 | 106 | (126) ] 0) | 43 J(0.3)] 48 |0.84 | 48 |371.0 |47.6%]| 50
1 B 70 1134 | 143 ] ) | 40 1. ] 40 1094 | 39 1469.551.6%] 19
2 USRS 80 |1 132 | (176) ) (44 | 55 0.6) ] 53 1075 | 54 1492.0 [47.3%] 51
2 Befi =2 80 1123 | (38) ) (15 | 42 0.2 ] 42 10.89 [ 43 ]535.5|51.5%]| 25
2 B Z5 L 80 | 122 | a3 ) oy | 41 J.D] 39 1092 | 41 |534.0 [51.3%] 27
2 B 80 1185 o) 84 | 5 J 11 [ 5 |18 | 1 ]5550[53.4%]| 11
2 L5 Ml 80 168 | (143) ] 25 126 103 | 25 | 1.17 [ 25 |510.5 [49.1%| 44
3 F 60 | 142 | (118) ) 24 | 27 04 | 21 |1.20 [ 21 ]402.0 |51.5%]| 22
3 FEE S 60 | 142 | (118) ) 24 | 27 104 | 21 |1.20 [ 21 ]402.0 |51.5%]| 22
3 B 70 1150 | 201 29 |21 J 04 |19 |1.24 | 18 ]469.5|51.6%] 19
3 SHCE 70 1150 | 201 29 |21 J 04 |19 |1.24 | 18 ]469.5 |51.6%] 19
3 EEE 70 1167 [ 260 41 [ 13 J 0.6 | 11 |1.33 | 11 J462.5 [50.8%] 29
3 HRE 70 1167 [ 260 41 [ 13 J 0.6 | 11 |1.33 | 11 J462.5 [50.8%] 29
4 ek e L 60 | 89 | (135 ] “6) | 56 J0.8) ] 58 J0.66 | 58 ]391.5150.2%]| 35
4 T2 80 | 135 | a6 ) %) | 51 J0.4) ] 49 10.83 [ 49 |473.0 |45.5%] 63
4 TR 90 | 150 | (182 ) 32 | 52 J0.4) ] 50 10.82 | 52 ]534.0 |45.6%]| 62
4 PRI FR 40 1 77 | 98 | @D (0.5) 0.79 238.5 [45.9%
4 (R 70 1120 | (199 ) b | 62 J .| 64 0.62 | 61 |424.5 |46.6%]| 56
4 =t 60 | 67 | (1501 @D | 63 1.5 ] 66 1044 | 66 |377.5 |148.4%)| 48
5 SEHENS 80 1187 | (135 52 112 107 [ 10 | 1.39 | 10 ]543.5 [52.3%] 18
5 ZK 1100 1223 [ (a1 70 [ 6 107 1 9 J146 ] 9 |688.5]53.0%| 15
5 AR | 100 | 169 | @63) ] 94 [ 64 109 ] 61 10.64 | 59 |642.0 149.4%| 42
5 FEaZE | 100 ] 169 | 263) ) O | 64 0.9 ] 61 |0.64 | 59 |642.0 149.4%]| 42
5 A 20 | 36 | (18 | 18 0.9 2.00 145.0 | 55.8%
6 iR 80 1165 | (14 ) 23 129 103 |28 |1.16 [ 26 ]523.0 |50.3%] 34
6 fei FIEHE 80 1182 | (143 ) 39 |16 105 | 17 | 1.27 [ 17 ]555.5 |53.4%] 10
6 i IE 60 | 141 | 8% | 53 |11 J09 | 8 |1.60 [ 8 ]410.5|52.6%]| 16
6 HES 60 | 145 | 1D ) 34 [ 17 J 0.6 | 13 |1.31 | 15 |426.0 |54.6%] 5
6 ST 60 1109 | 1] ® |39 1. ] 41 1093 | 40 ]388.0 149.7%]| 41
6 Z e 60 | 106 | (14D ] 35 | 53 10.6)] 55 10.75 | 53 1390.0 |50.0%]| 37
7 2 30 1 36 | 92 | 56) (1.9) 0.39 148.5 |38.1%
7 Alan SIA ] 100 208 [ (9D | 17 [30 1 0.2 | 33 ]1.09 | 33 |650.5 [50.0%| 36
7 QSunny LAM| 60 | 86 | (148) | 62 [ 59 1 (1.0)| 63 10.58 | 65 |369.0 [47.3%]| 51




10 114& E<F > ﬂ#ﬁ%ﬁm% 10
iz . s | = | =% | g | IMP kA % | BA
5 # R m g | wes | Tes 1&:4\ e | e | v | vp | B~ | A4S (VP
IMP IMP | IMP | @2 | Fpe | ¢ | Fdc | 25| MP MP it 2,
7 Radihike RYR] 100 | 149 | (255) 1 (106)[ 66 | (1.D) | 65 10.58 | 64 ]589.5 [45.3%| 64
7 Diana SUN | 110 | 235 [ 206) | 29 [ 21 103 |29 |1.14 [ 29 ]722.5 [50.5%] 31
8 ZHATT 70 1102 [ (166) | 6D [ 60 1091 59 1061 | 62 1409.0 [44.9%| 65
8 LG 70 1140 | (d39)] 1 35 100 [ 35 |1.01 | 35 |422.0 146.4%| 58
8 TRRE 70 1140 | (d39)] 1 35 100 [ 35 |1.01 | 35 |422.0 146.4%| 58
8 Ptz 60 | 154 [d4D | 13 132 102 |31 J1.09 [ 31 ]365.5 [46.9%]| 54
8 AKobig 60 | 154 [d4D | 13 |32 102 |31 J1.09 [ 31 ]365.5 [46.9%]| 54
8 s 70 1102 [ (166) | 6D [ 60 1091 59 1061 | 62 1409.0 [44.9% 65
9 NS 100 | 250 | (144 ] 106 | 1 1.1 3 1174 | 2 1724.0 [55.7%| 3
9 Fh X AH 100 | 250 | (144 ] 106 | 1 1.1 3 1174 | 2 1724.0 [55.7%| 3
9 PR T 100 | 226 | (172) | 54 9 105 [ 14 J1.31 ] 13 ]1705.0 154.2%] 6
9 R 100 | 226 | (172) | 54 9 105 [ 14 J1.31 ] 13 ]1705.0 154.2%] 6
10 Bk sl 80 | 208 | (123) | 85 3 1.1 1 11.69 [ 4 ]556.5 [53.5%| 8
10 fer e 70 1126 [ d48) ] 22) [ 45 1(0.3)] 45 1085 [ 46 ]1440.5 [48.4%] 46
10 SRS 70 1126 [ d48) ] 22) [ 45 1(0.3)] 45 1085 [ 46 ]440.5 [48.4%] 46
10 Bt et 50 1 93 (85) 8 0.2 1.09 340.0 152.3%
10 s 5 50 1 93 (85) 8 0.2 1.09 340.0 152.3%
10 SHEE 80 | 208 | (123) | 85 3 1.1 1 11.69 [ 4 ]556.5 [53.5%]| 8
11 SIBEE 100 1 224 1 (1991 30 | 18 1 03 [ 26 J1.15 | 27 1693.5 |53.3%] 12
11 ERAY 80 1163 | (A70) | (H [ 38 1. ] 38 1096 | 38 |518.5 [49.9%| 40
11 MUE 100 1 224 1 (991 30 | 18 1 03 [ 26 J1.15 | 27 1693.5 |53.3%] 12
11 EHE 50 1 93 [ d20) ] @7) 0.5 0.78 308.5 147.5%
11 Z2IAE 70 114 [ AdSD ] “0) [ 54 10.6)0] 54 10.74 [ 55 1434.0 [47.7%] 49
12 Bk e 70 145 [ d68) | 23) [ 48 1(03)] 47 1086 | 45 ]1429.0 [47.1%| 53
12 P& ST 30 | 64 (76) 1 d2) 0.4 0.84 183.5 147.1%
12 ek e % 80 | 107 | (155 | (48) [ 57 1(0.6) | 56 10.69 | 56 |479.5 [46.1%| 60
12 ZEEH 80 | 107 | (155 | (48) [ 57 1(0.6) | 56 10.69 | 56 |479.5 [46.1%| 60
12 PR EEHE 50 1102 [ A3 db 0.2) 0.90 322.5 149.6%
12 g {& 90 | 183 [ (205) | 22) [ 45 1(0.2)] 44 10.89 | 42 ]568.0 [48.5%| 45
13 PR IEH 80 | 178 | (137) | 41 13 105 116 1130 [ 16 |554.5 [53.3%] 14
13 FoOE 70 1149 [ d33) ] 16 [ 31 102 |30 J1.12 [ 30 ]J468.0 [51.4%]| 26
13 bR A B 40 | 58 95 1 3N 0.9 0.61 226.0 143.5%
13 EFY 50 1 62 [ d4D | (79) (1.6) 0.44 263.5 140.5%
13 M5 90 1190 [ d7H | 13 132 1 0.1 |34 J1.07 [ 34 1602.5 [51.5%] 24
13 LFHE 70 157 [ d27) | 30 [ 18 104 | 18 |1.24 [ 20 |478.5 [52.6%| 17
14 TR 60 J 115 [ A3 ] @D 49 104 ] 51 1083 [ 50 1392.5 [50.3%]| 32
14 Fek s 60 J 115 [ A3 ] @D 49 104 ] 51 1083 [ 50 1392.5 [50.3%]| 32




10 142 <2 2ABERE 2B L 10

i : K o | =m | E=m | g | NP X % | Ba
i FR gl | zes |z |z IMP | IMP | IMP | IMP | Gdc| A4 | A4 | (MP)
IMP IMP | IMP | @2 | Fpe | ¢ | Fdc | 25| MP MP i 2,

14 PRT-HE 70 1165 [ 39 ] 26 [ 24 104 |23 11.19 [ 23 ]455.0 [50.0%| 37

14 ZR0H 70 1165 [ A39) ] 26 [ 24 104 |23 11.19 [ 23 ]455.0 [50.0%| 37

14 FEIE R 70 1183 | (d13) ] 70 6 110 | 6 J1.62 ] 6 5085 155.9%]| 1

14 SR I 70 183 | (113) ] 70 6 110 | 6 J1.62 ] 6 ]508.5 155.9%]| 1




